
1 | P a g e 

 

 
 

11/28, 2016 
 

1967-1969 Camaro and 1968-74 Nova 
Complete Sub Frame 

 

Installation Instructions 
 

The following instructions are intended for professional installers 
and are guidelines only. Speedtech Performance assumes NO 

responsibility for the installation of any of its products. All products are 
intended for off road use only and must be installed by qualified 
professionals only 

 
Thank you for purchasing your new Speedtech Sub Frame suspension kit. Installing this 
product will require the removal of your old sub frame, engine and transmission from the car. 
Take all necessary precautions whenever jacking up your vehicle and use safe and sturdy jack 
stands to support the vehicle whenever it is off the ground. Be sure to take all other safety 
precautions required to do the job correctly. 

 



2 | P a g e 

 

 

Sub Frame Hardware Kit Checklist 
 
A. Transmission mount spacer plate 
 
B.  (2) Upper shock mount ½ x 1 ¾ Shoulder bolt, (2) 3/8 large flange Nylock 
nuts, (4) 3/8 washers 
 
C.  (6) Motor mount frame stand 7/16 x 3/4 NF 
 
D.  (4) Upper control arm mount 7/16 x 2 1/4 NF, (4) 7/16 Nylock nuts 
 
E.  (14) 7/16 Washers- (6) for frame stands C., (8) for Upper Control arm D.  
 
F.  (4) Upper Sway bar mounting 3/8 x 1 NF 
 
G.  (4) Transmission mount socket head stainless 5/16 x 1 1/4 NF 
 
 
Sway bar mounting hardware is included with the sway bar and the sway 
bar end links are included with the High Clearance lower control arms.  
 

  



3 | P a g e 

 

 
Assembling the Sub Frame 

 
 

1. Support the sub frame with jack stands at each corner, be sure it is sturdy 
and level. 

 

 
 

2. Install the supplied motor mounts. Do not fully tighten the bolts at this time to 
allow adjustment later when installing the engine. 
 
Note: LS Series motors use 2 different length frame pads, the Taller Pad must be installed 
on the Driver Side. This will move the motor over Ĳò to clear the oil pan rail. You must also us 
an LS motor mount adapter such as the ATS # 070001. 
 
Small Block and Big Block engine stands are equal in height and can be installed on either 
side. 
 
 
 
 
 
 
 
 



4 | P a g e 

 

 
 

3. Install the transmission cross member.  Do not fully tighten the bolts at this 
time to allow adjustment later when installing the engine and transmission. 

4. Install the lower control arms. Begin control arm installation by sliding the 
frame end up into the frame pockets, the straight tube should be located to the 
rear.   



5 | P a g e 

 

 
 
Install only the İò x 3 İò front mounting bolt at this time. Apply anti-seize 
lubricant to the shank of the bolts. The rear bolt will be installed later along with 
the rack and pinion bracket. 
 

  
 

 



6 | P a g e 

 

 

 

5. Remove Steering rack from packaging. You will not be using the long lower 
control arm (LCA) mounting bolts that come with the rack hardware. Instead use 
the Speedtech Grade 8, 4 1/2ò long mounting bolts supplied with the control 
arms. 

 

You must remove the rack from the mounting bracket to get the driver side bolt 
into it's position in the bracket. Apply anti-seize lubricant to the shank of the bolts, 
install into bracket, then reinstall bracket onto rack body.   
 

For proper alignment, refer to the installation instructions included with the rack 
and pinion. The 2 mounting bolts must go in at the same time (see photo above) 
and the bracket and spacers must end up flush against the frame. It may take 2 
people to perform this procedure, it is a tight fit. 
 

 

 

 

 

 

 

 

 

 



7 | P a g e 

 

 

 

The lock nuts that are provided with the lower control arms must be installed 
through the hole in the bottom of the sub frame, a small amount of red Loctite is 
suggested. At this time you can torque all 4 lower control arm nuts to 70 ft/ lbs. 
 
It is recommended you grease the LCA bushings via the grease fittings at this 
time. We suggest using Permatex Ultra Slick Synthetic Grease but any high 
quality chassis grease will do. 
 

 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 



8 | P a g e 

 

 
6. Assemble the coilover shocks. Start by installing the adjusting nuts threaded to 
the extreme bottom of the shock. 
 
Install the adjusting thrust bearings and washers on top of the nuts prior to the 
spring. 
 
Install spring and spring cap. The spring may need to be compressed in order to 
get the cap on correctly. 
 
Install the supplied T-bar into the bottom bushing of the shock and install the 
snap rings. 
              

      

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


